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Baction-A (MCQ's)

each from the given options:
L In’ +ml¢cdl-
(@) 21xm # 2bx ¢ of + o(b) Injax + b | & (o} Infewe + 2bx + c|ro

(D) 3’5 [rnx + Zbx+ oo

IfA= }Jt-’&SS"E dx, then A =

@0 (b)2 @2 (d)None of these
{iit) mownlofomwmofmmsdah‘mglaucalod_____

(0) Cireum-cantrs (b} In-comtra (c)Centrald  (¢) Orthocentre
(I¥) &+ Znnyb by’ = 0 roprosents pakr of orthogonal s [ sum of the coefficlants]
of xand y is:

(a)1 L0 (o)1 (d}2
(V) W30°<B<180% thenslopsis:

(@) Undefined (b) Posifive (c)Negative  (d)Same
v) Mho- .m': -

(a)e’ (b)e* ()" (d)e®

(Vi) Afunctionf. A — Blssaldtobe JMtharangoaffis B,

(a) Bijoctiva  (b) Surjective () Injective (d)None of these

1

(Vi) t;f.n. dxe 4

(Wit )Infineve (e)inx+o {d) 3 ™me
(Ix) Thodnhmbom-nmmmmllmlxosy02-0md4x+ Jy+8=0is;

(x)

(xi)

(X}
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w5 > © 3 @

Inhidopoofhnmmbﬁ. thon the angle [s:

(a)30 (b)&o (0)45 (d) Noos of these

(l,b)n [307]

®(1,7 (6)(3.8) (©)14,5) 02/ {d)(3,8]
L

1) = s 7 then ranga of - |g:

7o .
(3) W (b) = pes) (6) =200} (ﬁ%)




= Ind SX-
(xdll)  Wy=80""",  thon ax

‘.)]ﬁo”" (b)bﬁ‘". (d)ox-ﬂa"‘

(Xlv)  The vertexof the parabola y = 5 x -2 + 7 |s;

(#)(2,0) (b)(2,-7) ©)(-2,7) (@)(2.7)
(xv)  Thesets(c,r)={pxy)l, |cpl=rjcontains centre o if:
(wjr=0 (byr<0 {eyr>0 (g) ===

(vt Io"(SMx+mx}dx-

(o7 sinve mysesimie  (g)e"" comk+ qd)Nanefothese
(xvii) IF g ammhnnlousodguola_peﬂblplpod,mnwolumb:
(@) i vy fbiavw]l  (C)U.vw (d)Ux vxw
(xviil) Thecentreofcirie 3" +3y —6x+12y~7=0 |5
{a)2,-4) (B} 1,-2) (c)-2,4) (d){(-1.2)
Mmﬂ

0.2 Deﬂ\e Fundion' lnd COMPOSITE FWCTION" th Ih. domm md nnpo off,
'whore f()() = Juf wel

Q3  Evaluste: ....qxtcol-wwuxo
aifix

40.4 Find the equation of & line through the intersection of lines 3x -4y +1-0, fx+y-1=0
and outting off equal intercepts from the axes.
Q5 Show that the aquation of tha line through the argin making an angle of measum

Y n-tew
& withtheline y = mx-bis. i e

d
os o o when, y=yine" -7
Q7 Rplwyowanqiglqo.procluonvodunolmopolnuhmdanroglmby
2a 3 FAnd g -3 4 2 respectively . Use scalar produdct to find angle AOB vorreut

to rearest degres.
Q.8 Find e relalive imaximum snd minlmum values of the
EERH IR L0S) = =x' 247 O/
dy _ 2
4 Sohve:2ezy g, TNy (/

Q.10 Find an equalion fo the circa pasiang throrgh the paints A { 1 2)ar(§n ~2) and
wuummmumzwsa

{ho ecoentricity, and the oguations of the directices of the hyperbola 3 @

95’ = 4y’ + 36x+ Dy~ 4= 0 %
d)‘ AR I ,O
Q12 Find ° I, & '{_
Q18 Evaluate! lo'( thd )dx
\ +CoBX

Q14 Asaguenca ingiven by writa down tha genaral teem of tha

gaquence and find ita limit
Nate: Solve any THREE of the following questions,
i I dxwin:
—_ win
Q15 (D)mthat.‘(““x”_g)
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(b}  Findthegradientofthe curvey= =

'4 atthe polntwhere x =3.

Q.16 (a)Findihe condition thatthe conic 4 +by’ =1 shouldeut a%' +bYy* =1

(b)  Acurva has aquation Y-j’; . Find tho area of the reglon endlosed by the

1 curve, the x-axis and the ines x =1 and x = 4,

Q17 () Find the equation of the ellipss, whase centre Is origin and directrix = 16, bnwooi
Intus rectum 12,

(b}  Theaquation of acurve (s In (xy)-y3 =1, Show that ;f x_uyz-—ll

Q.18 (umy-;l,—o thon find ;{m"l by ab-initio methad.

(b)  Find the ares of e angle with vertices A(1,-1,1) , B(2, 1, <1) and C{-1,1.2) Also
firsd & unit vesctor perpandicular to the plane ADC,



